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11:00 19.43675 28.1755 19.51475 17.04425
12:00 37.8605 53.33575 37.6285 34.415
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1 6 13 18 22 5 14 19 27
1 0 5.8 124  13.6 9.4 3.7 13.6 11.2 11.7
6 5.8 0 6.6 158 103 2.1 7.8 13.4 12
13 124 6.6 0 17.5 129 8.7 3.6 18.9 13
18 13.6 158 175 0 6.8 13.7 139 24 4.5
22 9.4 103 129 6.8 0 8.2 93 6.4 23
5 3.7 2.1 8.7 13.7 8.2 0 9.9 11.3 9.9
14 136 7.8 3.6 13.9 9.3 9.9 0 15.7 9.4
19 112 134 189 24 6.4 11.3 157 0 6.9
27 117 12 13 4.5 23 9.9 94 6.9 0
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T A R8T B e RPN R, FH A5 3 FRAT T B il B B AR 1Y 2 M,
T01 15 (vertex) Fl1i2 (edge).
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5 1 1
14 1 1
19 2 0
27 1 1

£ 8 AT A A A )

LB, H2k HARKE
1 5 MV#2 P1—P2—P5—P6—P3—P2—P1 11.6
1 5 MV#1 P1—P2—P5—P6—P3—P2—P1 11.6
o B MVE] P1—P2—P3—P6—P9—P24—P14—P24—P9—P6—P5—>P2— 97 9
P1
o MVE2 Pl—>P2—>P3—>P6—>P9—>P24—>PP114—>P24—>P9—>P6—>P5—>P2—> 97 9
3 5 MV#2 P1—=P4—>P7—P21—>P22—>P27—P22—>P21—>P7—P4—P1 23.4
3 5 MV#1 P1—=P4—>P7—P21-P22—>P27—P22—>P21—>P7—P4—P1 23.4
4 5 MV#1 P1—-P4—P7—P21—-P19—P18—P19—P21—>P7—>P4—P1 27.2

55 MV#1 P1—P4—P7—P21—-P19—P18—P19—P21 >P7—P4—P1 27.2
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£ 9 Bt FACEARI(FIA—)

X FEREE R R
1 5 MV#2: 9 B 25K 55 5 B 393KWh;
15 B BK5 55 6 7R H;

16 B IR [A]7 5 1.

1 5 MV#1: 15 B 27577 505 T 164.3KWh;
19 B LT 55 6 7R
20 BF IR A5 A5 1.

25 MV#1: 12 B 23577 5 14 T 181K Wh;
16 B L7755 6 7L
17 B35 B 5 65 1.

#2 B IX ARG (5 AL 14) 2 B MVH2: 16 BRI & 14 L 310K Wh:
20 I BT AL 6 AL
21 W3R [ 5 A1 1.
3 2 MV#2: 12 B FET A 27 HUE 227K Wh;
15 I 35515 11 22 Fo A
#3 & XA 45 (1744 27) 16 A3 95 1.

35 MV#1: 16 B 2795 51 27 JlH 176K Wh;
20 B BIIA Y AT 22 7
21 BFIR[A 5 A7 1.

45 MV#1: 12 B 23575 51 19 T 80K Wh;
14 B B3R5 51 22 7o
15 B35 [B]75 £5 1.

55 MV#1: 15 B 2IA7 55 19 U 196K Wh;
20 B BIR T AL 22 Fo
21 WFIR A5 451

#4 & XA far (55 450 19)
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AR SRAR, TR A ¥218. 1351 M EEFE N 177, 6km.
5.2 BB 568 — B9k R
5.2.1 §txtio)fE —xHER L

R A, BahfERe s TGl 6 XA At s 75 R A 281k, 70 Bk S
T YetR & B8, R R R EAEGE R RE R sh il Re R o HLAEF, %70 sl R R B
IR ILEEE 2, 55 506 AR & B 78 B AR T T W 78 . 220081, A S A A AR
R H RN RS B il e 4R AT 70 L IR AS RS A T A 2 ) B B R R AR B, S TR T R AR
TERYRIE T B AR, N, ERRAY T R3EAE B AR SO TR B R R R AT s,
BEINBER AL AR, SRR R, TR 3. BT cE s A XA

| = 17502221 —  dy

Forrdp AIMAIGAR A B2 5 B FE FELAN A%, BEIN TA] 240 15 150
d2(t) = (dl(t) 400 —-0.2 Wj.ﬁ(t))/400
TR — AR, RIEZIMEEEE TR BANE, BEMERSH ISR, #l,
— G REEAE 13 BT S 6 AT AR, Z R EAM KNSR K AR B HEEFE R &
HFHZ B oy FTHRL A AT B3R, R L AR R AT 6 B0 LIS 21 H 4 15 3135 1Y)
AR
£ 10 &7 wsbF aHeh i
T 6MV FREEE T 13MV FRELE T 18MV FRELEE 5 A 22MV FRHLEE

W () i (3/kih) 1 (3/kih) 2/ ki) i (2/kih)
1 0. 365 0. 365 0. 365 0. 365
2 0. 365 0. 365 0. 365 0. 365
3 0. 365 0. 365 0. 365 0. 365
4 0. 365 0. 365 0. 365 0. 365
5 0. 365 0. 365 0. 365 0. 365
6 0. 365 0. 365 0. 365 0. 365
7 0. 365 0. 365 0. 365 0. 365
8 0. 687 0. 687 0. 687 0. 687
9 0.935 0.934 0.935 0.935
10 0.932 0.930 0.932 0.932
11 0. 925 0.921 0. 925 0. 926
12 0.916 0. 908 0.916 0.918
13 0. 656 0. 648 0. 659 0. 660
14 0. 643 0. 636 0. 650 0. 651
15 0.629 0. 627 0.641 0.642
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16
17
18
19
20
21
22
23
24

0.617 0.620 0.633
0. 860 0. 865 0.878
0. 859 0. 864 0. 877
0.8 0.8 0.8
0.8 0.8 0.8
0.8 0.8 0.8
0. 687 0. 687 0. 687
0. 365 0. 365 0. 365
0. 365 0. 365 0. 365

0.635
0. 880
0.879
0.8
0.8
0.8
0. 687
0. 365
0. 365

WRAE LR R s A 45 R ST, E i T AU S SRR R AT B AR 2l R

g
& 11 R F ki D (P
B XA MVH#1 Hg MVH#2 S

5 1 1

14 1 0

19 2 0

27 0 1

k12 R AT 2R (P D)

5 327 AR

1 5 MV#2 P1—P2—P5—>P6—P9—P24—P14—P24—~P9—P6—~P3—~P2—P1 27. 2
1 5 MV#1 P1—>P2—P5—P6—>P3—~P2—P1 11.6
2 5 MV#1 P1—P2—P3—P6—P9—P24—P14—P24—P9—P6—>P5—~P2—P1 27.2
2 5 MV#2 P1—P4—P7—P21—P22—~P27—P22—~P21—~P7—P4—P1 23. 4
35 MV#1 P1—P4—P7—P21—P19—P18—P27—~P22—~P21—~P7—P4—P1 29. 8
4 5 MV#1 P1—>P4—P7—>P21—P19—P18—>P19—P21—P7—P4—P1 27.2
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B 3K

FEREF/XENRE

#1E Z24t: Windows (Version 10)
LS S MATLAB iE 5

“Fi B 7% MATLAB-2020B
ARIDVE L ARSI R

g HHE S

RADTEE 1 B KA

cle

clear

data=xIsread ("B 1 3: 29 AT A xIsx);

data(find(isnan(data)==1)) = 0;

G_data=data(2:end,2:end);

G = graph(G_data);

edge num=G.Edges;

Node num=G.Nodes;

x=0:0.5:10;

y=0:0.5:10;

z=0:0.5:10;

label={"P1' 'P2' 'P3' 'P4' 'P5' 'P6' 'P7' 'P8' 'P9' 'P10"...
'P11''P12''P13' 'P14' 'P15' 'P16' 'P17' 'P18' 'P19' 'P20"...
'P21' 'P22' 'P23' 'P24' 'P25' 'P26' 'P27' 'P28' 'P29'};

sources = [1];

charge point=[6 13 18 22];

charge point label=label([charge point]);

load_point=[5 14 19 27];

load_point_label=label([load point]);

targets = [1 6 13 18 22 514 19 27];

figure(1)

idx=[sources charge point load point];

conection_graph=subgraph(G,idx);

h=plot(G,'EdgeLabel',G.Edges. Weight);

a=1:29;
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labelnode(h,[12345678910111213 14151617 18192021 2223 242526 27 28 29],label)
labelnode(h,[a],label);
highlight(h,1,'NodeColor','r','MarkerSize',8)
highlight(h,charge point,'NodeColor','g','MarkerSize',8)
highlight(h,load_point,'NodeColor','k','MarkerSize',8)
for i=1:9
[P,d(i)] = shortestpath(G,1,targets(i));
highlight(h,P,'EdgeColor','g','LineWidth',2)
end
conection_graph=subgraph(G,idx);
figure(2)
fori=1:9
S()=[idx(D)];
target=[idx];
target(i)=[];
[TR,D(i,:)] = shortestpathtree(G,S(i),idx);
subplot(3,3,1);
htr=plot(TR);
highlight(htr,1,'NodeColor','r','MarkerSize',8)
highlight(htr,charge point,'NodeColor','g','MarkerSize',8)
highlight(htr,load point,'NodeColor','’k','MarkerSize',8)

end

Graph min d=graph(D,'upper’);

figure(9)
ht=plot(Graph_min_d,'Layout','force',/EdgeLabel',Graph_min_d.Edges. Weight);
highlight(ht,1,'NodeColor','r','MarkerSize',8)

highlight(ht,[2 3 4 5],'NodeColor','g",' MarkerSize',8)

highlight(ht,[6 7 8 9],'NodeColor','’k','MarkerSize',8)

T=minspantree(Graph_min_d);

figure(3)

ht2=plot(T, Layout','force','EdgeLabel’, T.Edges. Weight);
highlight(ht2,1,'NodeColor','r','MarkerSize',8)
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highlight(ht2,[2 3 4 5],'NodeColor','g','MarkerSize',8)
highlight(ht2,[6 7 8 9],'NodeColor','k','MarkerSize',8)

%]| T,pred] = minspantree(G,' Type','forest','Root',findnode(G,'1"));
%highlight(p,T)

d = distances(G,sources,targets);

%% %o 115 9l FH %%%% % %% %% % %% %% % % %%

price load data=xlsread('BiF 1: Fifir. HLATEHE xIsx);
price_load data=price load data(1:25,1:7);
guangfu_data=xlsread('F1F 2: SR H J7E#E xl1sx");
guangfu data=guangfu data(:,2:end);
ralated load=price load data(25,2:5).*%0.8;
for i=1:24
for j=1:4
grater _than related load(i,j)=((price load data(i,j+1)>=ralated load(j)));
end
end

[row,col v]=find( grater_than_related load==1);

for m=1:32
for 1=1:32
price_load_data2(row(m),col(l):6)=price load data(row(m),col(1)+1:7);
end
end
price_load data2(19,1)=0;
price_load data2(9:11,2:4)=0;
price_load data2(9:11,6)=0;
charge spend matrix=price load data2(9:end,:);
for i=1:4
for j=1:11
average earn_money_ matrix(j,i)=[charge spend matrix(j,i)-ralated load(i)]*...
charge spend matrix(j,5);
real charge capacity(j,i)=charge spend matrix(j,i)-ralated load(i);

if real charge capacity(j,i)<=0
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real_charge capacity(j,1)=0;
end
if j<7

spend_charge capcity(1,i)=sum(real charge capacity(1:j,i));
else

spend_charge capcity(2,i)=sum(real charge capacity(7:j,1));
end
if average earn money matrix(j,i)<=0

average earn_money_matrix(j,i1)=0;
end
sum_earn_money_matrix(i)=sum(average earn_money_ matrix(:,i));

end

end

earn_money=sum(sum_earn_money_matrix)*1000;
first_distance cost=(d(6)+2.1+d(2))*3+d(4)*2*2-0.4+d(9)*2*3+d(7)*2*3;
second_distance cost=(d(4)*2+(d(4)+4.5+d(9)))+d(9)*2*2+(d(6)+2.7+2.1+3+d(7))*2-+(d(6)+2.1+d(2
)t
(d(7)*¥2*1)-0.2;
charge cost=sum(spend charge capcity(1,:))*0.687+sum(spend charge capcity(2,:))*0.8;

%pure_earn_money 2=earn_money-distance cost-charge cost*1000+44*(0.8-0.687);

pure_earn_money l=earn_money-first_distance cost-charge cost*1000+44*(0.8-0.687);
guangfu data after 17 1=sum([152.7935 141.2165 115.0448 111.7365])/1000;

charge cost 2=sum(spend charge capcity(1,:))*0.687+(sum(spend charge capcity(2,:))-guangfu_dat
a after 17 1)...

*0.8+0.2*guangfu_data_after 17 1;
pure_earn_money 2=earn_money-charge cost 2*1000+44*(0.8-0.687)-second_distance cost;
%%
%% %thrid problem
mean_load(1)=mean(real charge capacity(1:end-1,1));
fori=1:4
if i>=2

mean_load(i)=mean(real_charge capacity(4:end,i));

% v(i)=var(real_charge capacity(4:11,i));
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end

end

vl=var(real_charge capacity(1:10,1));
v2=var(real_charge capacity(4:11,2));
v3=var(real charge capacity(4:11,3));
vd4=var(real charge capacity(4:11,4));
v=[vl v2 v3 v4]
%%load point 5 14 19 27
t=0.0300:0.001:0.07;
fori=1:4
P_limit_max(i)=mean_load(i)+3*v(i);
P_limint_min(i)=mean_load(i)-3*v(i);
y(i,:)=gaussmf{t,[v(i),mean_load(i)]);
subplot(2,2,1);
plot(t,y(i,));
end
P use power=[P_limit max;P limint min];
P use power=[P_limit max;P limint min];
thrid_distsance spend=d(8)*2+2.3*2+d(4)*2+d(9)*2*3+(d(7)+3.6+d(3))*2+d(7)*2*2+...
d(2)*2*2%2;
thrid earn_money=earn_money-thrid_distsance spend-(400+250+138+201.5)*0.687...
-(157.3+250+138+201.5)*0.8
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%% Yotk 2 AN 1 o 1) 388 [ T A7 R R B /M

%%%%%%% %% %% %% %% %Yo W UE . % %% %% %% %% %% % %% % % % % %

clear all; %3 Bk AT A 42 &

close all; %5 &

cle; %I

m = 6; %M I AN EL

Alpha = 1; %5 B R HERE S

Beta = 5; % )i K A 1 HEFRE ESH

Rho = 0.1; %f5 B K&K R

G = 200; %t KX

Q = 100; %15 B 248 hnss g /44

C=[13042312;3639 1315;4177 2244;3712 1399;3488 1535;3326 1556;...
3238 1229;4196 1044;4312 790;4386 570;3007 1970;2562 1756;...
2788 1491;2381 1676;1332 695;3715 1678;3918 2179;4061 2370;...
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3780 2212;3676 2578;4029 2838;4263 2931;3429 1908;3507 2376;...
3394 2643;3439 3201;2935 3240;3140 3550;2545 2357;2778 2826;...
2370 2975]; %

%%%%% % %% %% % % %% Y% 5 — 1 A2 B ATIA . %% % %% %% % % %% % % %

%load('graph_data.mat’);
% data=xIsread('fi £ 3: 29 415 S HE xlsx");
% data(find(isnan(data)==1)) = 0;
% D=data(2:end,2:end);
n = size(C,1); Y%n 7 [ B FIASE (R 1T A %50
D = zeros(n,n); %D 287~ N7 r 25 7] B R
fori=1mn
forj=1:n
ifi~=j
D(i,j) = 2.9*((C(1,1)-C(j, 1))"2+(C(i,2)-C(j,2))"2)"0.5./1000;
else
D(i,j) = eps;
end
D(ji) = D(i.j);
end

end
Eta = 1./D; %Eta JJi KN, X BLBON SRS ) (212
Tau = ones(n,n); %Tau N5 5 2 4
Tabu = zeros(m,n); %17 i FE 10 5% B A2 1) 22 ik
NC = 1; %Ik AR+ Hids
R_best = zeros(G,n); %755 4 % 2%
L _best = inf *ones(G,1); %554 B 2R 14K
figure(1); %A

while NC <= G
%%%%%%%% %% 5 2 % m FHASEURE] n NI %% %%%% %% %%
Randpos =[];

for i = 1:(ceil(m/n))
Randpos = [Randpos,randperm(n)];
end

Tabu(:,1) = (Randpos(1,1:m))’;
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%%% 5 =2 m ISR RO SE T DR, e B A %% %%
forj=2:n
fori=1:m
visited = Tabu(i,1:(j-1)); % V5 1] {75 s LR IS 5 1 — A
J = zeros(1,(n-j+1)); Y%of55 Ui A I35 77
P =J; %507 1] 19 s AR ML 20 A
Je=1;
fork=1m
if length(find(visited==k))==0
J(Jec) =k;
Je=Jctl;
end
end
%%%%%%6%%6%6%6 %o U SR 1 1T K IR 73417 %%%%% % % % % % %
for k = 1:length(J)
P(k) = (Tau(visited(end),J(k))*Alpha)...
*(Eta(visited(end),J (k))"Beta);
end
P = P/(sum(P));
%0%%6%%0%% %% % %o 1% Mk 5 JEU M HU R — 1T %%%%%%% %%
Pcum = cumsum(P);
Select = find(Pcum >= rand);
to_visit = J(Select(1));
Tabu(i,j) = to_visit;
end
end
if NC>=2
Tabu(1,:) = R_best(NC-1,:);
end
%%%%%%%%6%6%6%%% 5 U5 LKA YR EAE 2L %%%6%6%%%%% %
L = zeros(m,1);
fori=1:m
R = Tabu(i,:);
forj=1:(n-1)
L(i) = L()+DRG)R(+1);
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end
L(i) = LO+DR(1),R(n));
end
L best(NC) = min(L);
pos = find(L==L_best(NC));
R_best(NC,:) = Tabu(pos(1),:);
%%%%%%% %% %% % % %% 5 .0 . HHTE 2R %%%%% % %% %% % % %
Delta_Tau = zeros(n,n);
fori=1:m
forj=1:(n-1)
Delta Tau(Tabu(i,j), Tabu(i,j+1)) = ...
Delta_Tau(Tabu(i,j), Tabu(i,j+1))+Q/L(i);
end
Delta_Tau(Tabu(i,n),Tabu(i, 1)) = ...
Delta_Tau(Tabu(i,n), Tabu(i,1))+Q/L(i);
end
Tau = (1-Rho).*Tau+Delta_Tau;
%%%%%%% %% %% %% %% 5 /N 10 2 R RIE E %% %% %%%%%%% %%
Tabu = zeros(m,n);
%%%6%%%%%6%6%%% %% % %% 1 AR L 4% 25 % %% %% %% %%% %% %% %
fori=1:n-1
plot([ D(R_best(NC,i),1), D(R_best(NC,i+1),1)],...
[D(R_best(NC,i),2), D(R_best(NC,i+1),2)],'bo-");
hold on;
end
plot([D(R_best(NC,n),1),D(R_best(NC,1),1)],...
[D(R_best(NC,n),2), D(R_best(NC,1),2)],ro-'");
title(["I0 Ak A BE B ,num2str(L_best(NC))]);
hold off;
pause(0.005);
NC =NC+1;
end
%%%%%% %% % %% % %% %% %o 510 i H 45 A %%%% %% % % %% %% % %
Pos = find(L_best==min(L_best));
Shortest Route = R_best(Pos(1),:); Y& f£ 12k
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Shortest Length = L_best(Pos(1)); Yo 14 % 2k K &

figure(2),
plot(L_best)
xlabel("IEACTEL)
ylabel(' H #x 6 5 1H")

title("i& R Ak i 26")
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RIGEE 3 FEHEHBELR

/0% % %o FETE BRI R FH fE) @83 o ) 0 P 77 S48 FHIM/M/m/ c HERA F 4t
clc

clear

close all

[PO,P,Ls,Lq,Ws,Wq]|=MMC2(0.25,1,4,8)
function [P0O,P,Ls,Lq,Ws,Wq] = MMC2(lambda,mu,c,N)
%sM/M/c/inf/mHEP\ £ 5t
olambda Jy i 5 - 1514 B %
omu Y 5 4t 35 IR 25 %
oc IR 55 % 5 4
om N 5 Gt 2% S K IR
PO F 487 N R
% R 48 P A n B Y [ B PR BN
oLs N 5 Gt -1 15 s B (P I BA )
OoLq A 5 Gt H T S5 S5 A ISR 55 1 s B (P 3 SRR BA )
oW 9B 2 AE 22 4t v (1)1 25112 B I [
oW 9B 2 AE 22 4t v ()1 251 55 A I 1)
rho=lambda/(c*mu);
T1=0;
P=zeros(1,N);
for k=0:c

T1=T1+(c*rho)"k/factorial(k);
end
T2=(c"c/factorial(c))*(rho*(rho”c-rho”N)/(1-rho));
PO=(T1+T2)"\(-1);
fori=1:c

P(@i)=((c*rho)"i/factorial(i))*PO0;
end
for i=c:N

P(i)=(c"c/factorial(c))*rho™i*P0;
end
Lq=((PO*rho*(c*rho)"c)/(factorial(c)*(1-rho)*2))*(1-rho™(N-c)-(N-c)*rho”(N-c)*(1-rho));
Ls=Lq+c*rho*(1-P(N));
(Wq=Lg/(lambda*(1-P(N)));
[Ws=Wq+1/mu;
end
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